


3. b) 7210  xx  

 

 

 

 

 

 

 

4. Solve using the Pythagorean Theorem.  

a)  Find the hypotenuse of a right triangle if one side equals 7 feet and the other side equals 5 
feet.   

 

 

 

 

 

b) How tall is a pole if a 40 foot guy wire reaches from the top of the pole to a point on the 
ground 19 feet from the bottom of the pole?   

 

 

 

 

 

 

 

Need more help?  Check out these Modumath Lessons:  Intermediate Algebra :  Lessons 23, 

24, & 31 http://modumath.org/mm/GraysHarbor.html 

http://modumath.org/mm/GraysHarbor.html

